

Page 1 of 5

Contract ID: 15431 Counties: MONMOUTH

Letting Date: July 13, 2017 District(s): H4
Call Order: 431 Project(s): N/A

Contract Time: 11/17/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) TRI-STATE DREDGING, INC.		(2) H & L CONTRACTING, LLC		(3) WICKBERG MARINE CONTRACTING, INC.	
Alt Set / Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	12,000.00000	12,000.00	12,000.00000	12,000.00	5,000.00000	5,000.00
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0002 152004P	1.000	25,000.00000	25,000.00	12,000.00000	12,000.00	5,000.00000	5,000.00
OWNER'S AND CONTRACTOR'S PROTECTIVE LIABILITY INSURANCE	S DOLL						
0003 152015P	1.000	1,500.00000	1,500.00	5,000.00000	5,000.00	1,000.00000	1,000.00
POLLUTION LIABILITY INSURAN	ICE DOLL						
0004 153009P	(1)	60,000.00000	60,000.00	9,000.00000	9,000.00	20,000.00000	20,000.00
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 154003P	(1)	145,000.00000	145,000.00	635,000.00000	635,000.00	80,000.00000	80,000.00
MOBILIZATION	LS						



Page 2 of 5

Contract ID: 15431 Counties: MONMOUTH

Letting Date: July 13, 2017 District(s): H4
Call Order: 431 Project(s): N/A

Contract Time: 11/17/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) TRI-STATE DREDGING, INC.		(2) H & L CONTRACTING, LLC		(3) WICKBERG MARINE CONTRACTING, INC.	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous		Miscellaneous		Cat Alt Set:		Cat Alt Member:		
0006	155003M	1.000	50,000.00000	50,000.00	35,000.00000	35,000.00	69,000.00000	69,000.00
FIELD O	FFICE TYPE A SET U	P U						
0007	155021M	5.000	2,000.00000	10,000.00	4,000.00000	20,000.00	1,900.00000	9,500.00
FIELD O MAINTEI	FFICE TYPE A NANCE	MO						
8000	157004M	1.000	8,000.00000	8,000.00	45,000.00000	45,000.00	90,000.00000	90,000.00
CONSTR	RUCTION LAYOUT	DOLL						
0009	158072M	1.000	15,000.00000	15,000.00	4,500.00000	4,500.00	1,200.00000	1,200.00
OIL ONL TYPE 1	Y EMERGENCY SPIL	L KIT, U						
0010	158085P	1.000	5,000.00000	5,000.00	28,000.00000	28,000.00	75,000.00000	75,000.00
BIOLOGICAL SURVEYS LS								



Page 3 of 5

Contract ID: 15431 Counties: MONMOUTH

Letting Date: July 13, 2017 District(s): H4
Call Order: 431 Project(s): N/A

Contract Time: 11/17/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) TRI-STATE DREDGING, INC.		(2) H & L CONTRACTING, LLC		(3) WICKBERG MARINE CONTRACTING, INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous			Cat Alt Set:		Cat Alt Member:			
0011	159003M	8.000	1,000.00000	8,000.00	175.00000	1,400.00	150.00000	1,200.00
BREAKA	WAY BARRICADE	U						
0012	159006M	22.000	1,000.00000	22,000.00	100.00000	2,200.00	88.00000	1,936.00
DRUM		U						
0013	159009M	20.000	1,000.00000	20,000.00	26.00000	520.00	22.00000	440.00
TRAFFIC	CONE	U						
0014	159012M	246.000	4.07000	1,001.22	22.00000	5,412.00	19.00000	4,674.00
CONSTR	RUCTION SIGNS	SF						
0015	159018M	1.000	1,000.00000	1,000.00	3,000.00000	3,000.00	2,500.00000	2,500.00
CONSTR SIGN, 6'	RUCTION IDENTIFICA ⁻ X 12'	TION U						



Page 4 of 5

Contract ID: 15431 Counties: MONMOUTH

Letting Date: July 13, 2017 District(s): H4
Call Order: 431 Project(s): N/A

Contract Time: 11/17/17 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) TRI-STATE DREDGING, INC.		(2) H & L CONTRACTING, LLC		(3) WICKBERG MARINE CONTRACTING, INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Miscellaneous		Cat Alt	t Set:	Cat A	It Member:	
0016	159108M	1.000	2,500.00000	2,500.00	4,500.00000	4,500.00	16,000.00000	16,000.00
_	CONTROL TRUCK WED CRASH CUSHION	/ITH U						
0017	161003P	(1)	80,000.00000	80,000.00	18,000.00000	18,000.00	2,500.00000	2,500.00
FINAL CL	EANUP	LS						
0018	201003P	(1)	80,000.00000	80,000.00	9,000.00000	9,000.00	12,000.00000	12,000.00
CLEARIN	IG SITE	LS						
0019	202042M	17,367.000	29.65000	514,931.55	21.50000	373,390.50	50.00000	868,350.00
	NG, TRANSPORT AND ENT TO BEACHFILL	O CY						
0020	605201P	2,000.000	10.00000	20,000.00	8.00000	16,000.00	14.00000	28,000.00
SAND FE	NCE	LF						
Section	on Totals:			\$1,080,932.77		\$1,238,922.50		\$1,293,300.00



Page 5 of 5

Contract ID: 15431 Counties: MONMOUTH

Letting Date: July 13, 2017 District(s): H4

Call Order: 431 Project(s): N/A

Contract Time: 11/17/17 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging of Shrewsbury Channels

 Contract Totals
 \$1,080,932.77
 \$1,238,922.50
 \$1,293,300.00

 Cost Plus Time Totals
 \$1,080,932.77
 \$1,238,922.50
 1,293,300.00

() indicates item is bid as Lump Sum

1

Page:



Vendor Ranking

Call Order: 431 Contract ID: 15431 Counties: MONMOUTH

Letting Date: July 13, 2017 10:00 AM District(s): H4

Contract Time: 11/17/17 COMPLETION DATE

Contract Description: Maintenance Dredging of Shrewsbury Channels Project(s): N/A

Rank	Vendor ID	/Name	Total Bid	Percent Of Low Bid
1	T7463	TRI-STATE DREDGING, INC.	\$1,080,932.77	100.00%
2	H3450	H & L CONTRACTING, LLC	\$1,238,922.50	114.62%
3	22-2166036	WICKBERG MARINE CONTRACTING, INC.	\$1,293,300.00	119.65%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,